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B 2. 98 $rAel 2tF0|4t5te A HE

SRR ZARIR() 2132 B+ (ppm) £|4X|(ppm) Z|jX](ppm)
48 68 62 4.471 N.D. 23.003

WA-BRR 35 30 2.880 N.D. 7.424
RME= 6 4 2.218 N.D. 11.392

S TF 9 7 1.462 N.D. 3.383
E5F 2 2 1.856 1.536 2.175
HAF 3 2 1.642 N.D. 3.456
stz 4 4 4.429 1.152 7.744
71} 1 1 2.559 2.559 2.559
& 128 112 3.595

Al stob) & AlE loble] ' 5187152 5 ppm ofstoln] SEAIl AW, WAL A1, BEA
Zo] gic}. ZAIIA Slok) % 71E0] ARl Qe 14271 = AFsIgion] 71E

14271(100%), Hd-=T= 0.449 ppmo]|t}.
glomfo] 0L APy Alatsio] wlsh A Ueh b Zloe Ueid Qirk. 8 slok 14271 % Alaty
2 0.618 ppm, A|AHEQl HAE 9 S820] HFPhe 0.418 ppmo2 A5t
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B 3 /8 e o dE ¥
SR &5 ZAFRZ) AEU() H+4(ppm) £ 4X|(ppm) Z|tjX|(ppm)
a= 74 74 0.618 0.018 4.202
- BALR 35 35 0.170 0.004 0.891
e, 8 8 0.511 0.102 1.267
SR 9 9 0.171 0.030 0.404
S 2 2 0.050 0.018 0.081
HAR 3 3 0.123 0.040 0.232
=, 5 5 0.397 0.215 0.795
71} 3 3 1.174 0.012 2.861
7EFER S 3 3 0.144 0.123 0.161
A 142 142 0.449

O Bl EAZY
B4 S RAF A ZAY A2 Sl 14271 25 Aaston], 71 olste & 7
(99.3%)02 7 HFe 0.139 ppmo2 Uehdrh. A2 stofel ulA R 87IEL 3 ,
79 524 AL BB A E2of met s1Fo] 5 ppm olstol AL AgEle] Al efe
5 golsil welslm ok
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B 4. 75 grefAe B4 HE AE
SRR ZARI(1) AEIR) B+ (ppm) £|4X|(ppm) Z|jX](ppm)
= 74 73 0.159 N.D. 1.070
WA EXLE 35 35 0.098 0.019 0.999
P E= 8 8 0.101 0.024 0.190
11 =3 9 9 0.099 0.024 0.361
=== 2 2 0.025 0.023 0.027
HAS 3 3 0.057 0.040 0.069
k= 5 5 0.138 0.070 0.278
71e} 3 3 0.597 0.042 1.305
7eF ey 3 3 0.073 0.050 0.106
A 142 141 0.139
0 7leg A
F1e g &= R} Ayl 5]87|F0] AAElo] 9= 14271 B Atolojom, 7| o|slE AEE ArL
14171(99.3%)0]9it}. Hd=%+= 0.107 ppmo|H, 7 X|tX]= 0.816 ppmO=2 251 QokjA A&
=]l
A2/ stefAlolA 7tE&9] AHR6&71%E2 0.3, 0.7, 1.0 ppm 5 1 =0 T} ohefsh] wals
1 Qlon F2/dQl HH, WL AlE, =% Ailes AE 71Fo] it 7tEE2 EYOA FEE
+ d=A= Al Oqaoﬂ o2t Als Uioll %’9.%57} =M= 52502 dHA A HA RN
Fts=7t 0.013 ppmQl ZAxt tjy|sto] Alg AAE AHESH= AR FOIA 0.172 ppmog =7 4
Epgt
B 5 {8 3t FtEF dE A&
S F ZARR(R) AE12(3) w3 (ppm) %] 42X](ppm) Z|jx](ppm)
== 74 74 0.140 0.000 0.816
WA ZRER 35 35 0.045 0.000 0.266
ES e = 8 8 0.172 0.039 0.285
B =8 9 9 0.068 0.004 0.369
=== 2 1 0.000 N.D. 0.001
HAS 3 3 0.013 0.007 0.018
cI8=3 5 5 0.106 0.053 0.227
71e} 3 3 0.031 0.014 0.051
7EfES7 2 3 3 0.197 0.106 0.249
SHA| 142 141 0.107
0 4e ZAER
ZAVS Al 5 Al2d grefAle] a2 518752 0.2 ppm o|sto]t] 5=/dQ1 Hu, WAL, A5, Y=
82 Male= AAE 71E0] Ty RAINY St & 71Eo] R0l Sl 142712 R Agsion
715 olste] 2ol AEd e 14171(99.3%), Bats=+= 0.005 ppmo|t}. 2|t A& 5=+ 0.041
ppmz 5]&7|&9] 20.5% $F0]%1
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B 6. 78 oY +2 HE AE
SRR ZARI(1) AEIR) B+ (ppm) £|4X|(ppm) Z|jX](ppm)
s 74 73 0.005 N.D. 0.039
- AR 35 35 0.002 0.000 0.006
= 8 8 0.017 0.010 0.041
e 9 9 0.003 0.000 0.006
s 2 2 0.000 0.000 0.001
HAF 3 3 0.004 0.002 0.006
skR 5 5 0.005 0.002 0.013
71E} 3 3 0.002 0.000 0.003
e 3 3 0.002 0.001 0.002
3 142 141 0.005
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B 7 58 3Rfe F80|=4 HE %
St = AR - A& A} T8ol54 734 23t (ppb)
(ppb) Gl G2 Bl B2
N Z=(1)

FAE o5 2 o Ru7)AEK1) N.D. N.D. N.D. N.D N.D.
ARt | P-ERE 1 =AK1) N.D. N.D. N.D N.D. N.D.
o] 2= 2 Z32(2) N.D. ND. | ND N.D. N.D.

H=r =ay 1 ol 1f|AJoK1) N.D. N.D. N.D N.D. N.D.

ol TA-ERLE 3 Yolma]7laak(1) N.D. N.D. N.D N.D. N.D.

uls} az 1 Z=3(]) N.D. N.D. | ND N.D. N.D.
uH7 bRt =24 2 Z32(2) N.D. ND. | ND N.D. N.D.
wizlol | ppAl-ER[E 2 Z3(1) N.D. ND. | ND N.D. N.D.
uleixl | 3lAERE2 2 ol ZYA]oH2) N.D. N.D. | ND. N.D. N.D.
AFz 0l WA ZREE 2 Z==H2) N.D.~0.592 N.D. N.D. N.D.~0.592 N.D.
RS | TALEALE 2 H|EH(2) N.D. N.D. N.D. N.D. N.D.

0]QkIK(1)

= == 2 ~ N.D. N.D. N.D. N.D. N.D.
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Al31A Sol=4 S¥H An b,
somid | ¥R | me Q%] ‘(;p;” = ]Gz ‘”EBT‘} (bp )Bz
B EF) 2 ==(2) N.D. ND. | ND. N.D. N.D.
et | B EAlE 1 ol = Y|AJoK1) N.D. ND. | ND. N.D. N.D.
Roaxp | Balmae 1 22K1) N.D. ND. | ND. N.D. N.D.
Gotae]7krsh(1
ol | FAEALR 2 F ‘jj ree=(l) N.D. ND. | ND. N.D. N.D.
=(1)
S SAH == 2 Z=H2) N.D. N.D. N.D. N.D. N.D.
o} al= 1 =) N.D. ND. | ND. N.D. N.D.
A 18 &5 31
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P~ e 5 N 0.165
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o, 9716Ax] 559] T sor0] 5187158 (1 Olet ch AHRLsOF £A s} A0 Aol A] 871 A
s010] A1go] @Als] AL Zloz Wy

st v 51871%
SHYE(EDDT : p,p'-DDD, p,p'-DDE, o,p'-DDT ¥ p,p'-DDT9] &) 0.1 mg/kg oI5}
r] =2 (Dieldrin) 0.01 mg/kg ols}
ZH|olo]X|R|(ZBHC : o,B,yY §-BHCQ] §A) 0.2 mg/kg ols}t
& 2(Aldrin) 0.01 mg/kg oJst
Ql=2i(Endrin) 0.01 mg/kg olsf
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H 10. 8 2o URsF AE
Fll s AFIS(Z) A&5712(7) | B+ppm) | ZAX|(ppm) | Z|JX](ppm) A&
28 74 0 N.D. N.D. N.D. -
A ZER}E 35 0 N.D. N.D. N.D. -
Mzxa 8 0 N.D. N.D. N.D. -
dme 9 0 N.D. N.D. N.D. -
LX-1-§ 2 0 N.D. N.D. N.D. -
BAE 3 0 N.D. N.D. N.D. .
sl 5 0 N.D. N.D. N.D. -
7]E} 3 0 N.D. N.D. N.D. -
=24 4 0 N.D. N.D. N.D. .
LRS! 1 0 N.D. N.D. N.D. -
J|EkEs e 3 0 N.D. N.D. N.D. -
a4 147 0 -
4. 99
O & sl 5 147719] 870 &5 foll dw 24 2@ 14771 w5 A
O stomfe] AArd=EE At

- ZbFolitetet ¢ w A 11271(87.5%) A&, H+t 3.595 ppm (FEHS: 24%E~23.003 ppm)
: b 14271(100%) A&, = 0.449 ppm (FAEH9]: 0.004~4.202 ppm)
3F 14174(99.3%) A%, T+ 0.139 ppm (BEHY: E?é" 1.305 ppm)
- 7teg ¢ 5 A 14171(99.3%) A=, H+ 0.107 ppm (AEHY: 2725~0.816 ppm)
- 20 D5 AR 14174(99.3%) AE, F+t 0.005 ppm (BEHY: 24 % 0.041 ppm)
- FgolmA ¢ B ARl 174(3 2%) A=, 453k 0.592 ppb (HEHH: £45~0.592 ppb)
&, %, <t 0.165 ppb (H&HS: E4%~0.460 ppb)
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